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v,woooooog, f:v—-wodioooogo.gooao,
Kerf={veV| f(v)=0}0 fO00 (Kernel) 00O,
Imf={weW|¥veVw=f(v)} ={fv)|veV}DO fO0(Image) JO00.

Ker f 00000000 WOOOOO. O,KerfCV,ImfCcWOOOOOOOOOOODOOOOO.

1.2 0,00000 rank
A€My (K)OOO, fa: K" > Km0 f(v)=Av (ve K*) 000000,
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flea] =5 -2 3| |2 00, 4=|5 —2 3|0000 f(v)=Av.
T3 -3 3 =2 T3 -3 3 =2
1 5 0
AOOOoOoooo A=(0 -9 1)0O0000O,
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dimIm f =rank A =rank A’ = 2, dimKer f =3 —rankA=1.//
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V.K-0O000O,v1,...,00 € V,A1,..., A e KOODO.

> Aivi=0=A;,"0000000,v,...,0, 0 KOOOOOOOOOOOOOOOO0DO.
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DD,V:<Ul,...,’Ur>:{A1U1+'~'/\TUT|Al,...,ATEK}DDDDD,
v,...,0, 0 VO KOODODODODOOO,v,...,0,0VO KOOOODOODOOO.

00, v,...,v, 0000000000, w,...,»,0 KO0OOOOOODOOOOOO.
00,v={0}0000,Vv0000000000000000000000.

2.2 0O00O0O0O0O

V:K-000OO,V#£{0}000,0000000VO0000 {v,...,»,} 0000,
1) v,...,0,0 VO KOOOO,
2) vy,...,0,0 KOOOOODODOO

00, {v,...,n,}0 VO KODDODODOOO.
00000000C0OC0OC0OO00.000000000000,00200000000000000000.
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ai,a3 0O0O0O0O,000 asa=5a; —9% 3 00O0O. OO

Z1
Imf=<X flxz2| =a121 4+ azxa + azxs = (x1 + dx2)as + (3 — 9x2)az | x1, 22,23 € R » = (a1,a3)

r3
000 {a1,a3} 0 ImfO0000O0.
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3.1 0OOd4dQ

v,w:oood, f:V-w:0000,dimV =n,dim W =m,
V=A{vy,...,on}:VOOO,W={ws,...,w,, :WOOOOOO.

flu1) = anw +agwa + -+ A1 W,
f(v2) = apwi +anws + -+ aGmaWmn,
flon) = aipwi+ a1ws + -+ + Gp Wi,
aip  aiz2 - Qin
D00, A=(ay) = | ™ 2 . O f0y,WOOOOOOOOOOO.
Umi o o G
v, w; 0000000000000000 (f(v1) -+ flvp))=(wy ... wy, JADDOODODOODOD AD

00000O000.0,W=V,y=wW0O000 f0Vv000000000000000000.
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Ty,

U1
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Tn QV\L @) gwl

\% w

f
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oo, Vv=K"W=K"000,0000000000000,0000000000D0000DDOO.
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V={v,...,0n},V ={v},...,v,} 0000 vOOOOODOOO,v,=f(v)(i=1,...,n)000000
f:V—-VOVyoOoOoooooooyoo )y ooooooooooo.
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v = a11v1 +ag1v2 + -+ Gp1Un,
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Vg =  Q12V1 + A22V2 + -+ + Ap2Un,
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VU, = Q1pV1 + a21V2 + -+ Qpnn.
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o(N@) =2 TL @)+ (- 1)L ()~ ap(a)

000000.0000,Rs[z]00000D0 {1,x,2%,23} 0000 f000000000.
agood
{1,1‘,58271'3}:{fl,f27f3,f4}|:|DD.

e(fi)(x) = —4 =—4f;

o(fo)(x) =-3r -1 = —f1—3f

o(f3)(x) = =2 = —2f5

o(f1)(z) = 5a® — 32* = ~3f3+5f4
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0 -3 =2 0
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0o 0 0 )
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4.1 OO
V:K-00OOOOO.»,weVOOO (wwye KOOOODOOODOOOODODOODOOOOOOO.
1

v1 + vaw) = (v1|w) + (va|w), (Vw1 + we) = (v|wr) + (v|wa) (Vv,vl,vg,mwl,wg evV)

3) (ww) = (wlv) (Yv,w e V)

) (

2) (vdw) = Molw), (pv|w) =Flvlw) (Tv,w € VA p € K)

) (
) (vfv) >0 (weV), () =0&v=0

0000 (|)0,K=RO000000000000,K=CO000000000000000
yoooooooooooo, ((v,(-|))000000oooo. (|)0000000000 vooo.



0000000000,00000000000000000000000 1)04)0000 checkOO.
000D0000,K=C00002),3)000000000000000000000000.
00,2)0 (wiw) = Aw|w), (u|w) = plw) 0000000000,000000000000
000O0O0v,we K" 000, (ww)=v'w (00 v*=%)00000,(|)0 K"00000000.
00 (|0 K"00000000.
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(V,(-|-)Yoooooooooo.
vevVaooo,u| =@k 000 (|)0000v00000000000.

oooboooooboobooooooooboooooooOoooOoOoooDoooDDbD. V=KrOoooooo
obooo,000bo0o0oocobo0obooboobooboooooboon,2-00oooboon.

(V,(-|))ooooooo,|-|o{(|H)00o00o00U0b0 ooo.oo0od
Yv,w €V, [{wjw)] < [Jv] ||wl]
OO0000.0Cauchy-Schwarz OO O OO
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(V,(-|-)0OOOOOoO,|-|0¢(|)Y00000000 000. 0000

Yv,w €V, v+ wl < ol + [wl]

googoooooo.ooooooo

good

[{(v|w)| > re (vjw) 00000, Cauchy-Schwarz 0O 0000,

llo+wl]|? = [[v]]? + (v]w) + (wlv) + [[w]|* = [[v]|* + 2re (v|w) + w]*

< [[ol* + 2[{@lw)| + [w] < [[v]I* + 2]|vl w]l + [lw]* = (o]l + [lw])?
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(V,(-|)ooooooo, ||-|0¢(|y00000000 000. v,...,v.€V O
1) Vi, v; £0
2) Vi, j,i # j = (vilvy) =0
ooooo0,v,...,v.0(|Y0000000000.000

1) ¥, vl =1

oooo00d v,...,v, 000000000,

00, {v,...,v,}0 VOOOOOOO,v,...,v, 0000000000000
{vi,...,v,})0VOOOOOOOOOOOO.
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{wi,...,w,} 0 VODODOOO (dimV =n). 0000,

wq
v, = ——
[Jw ]
w/
wy = we — (vi|wa)vy, vy = m
2
w/
wy, = wy — (Vi|wp)vr — - = (Vp_1|Wn)Up—1, Uy = m
n

000 vy,...,v, 00000, {v1,...,v,} 0 VOOOOOOOOODO. OGram-Schmidt 000000

obooo.00oooboooo, 00 n=20000000000000000000000.
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A=11 1 1 O0C0O. 0000,00000000000000000T € M3(R), 000
1 3 -1

PYU=FD0OUeM;R)O0DO0O0O0O0O0O0,A=U0T0000000.0QROODO

good
Az(a1a2a3)DDD.

ay 1 %
U= = = )
ladll V6 \4

-2 al 1 —2
al :a27<u1\a2>u1: 1 7U2:72:7 1 ,
’ lasll ~ vz \ 4
1 at 1
a/:afuaufuau:74’u:73:74,
i U A T R W

00000000 R30000000 {ug,ug,uz} 000,
000 U= (uuus) 0000 UU=EODODO,

V6 0 V6
T=UA=[0 V14 -8//14| 0000 A=U0UT00000D0O0O.O
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6.1 0DOUOOOO0OO0OOO ete

1) Pe M,,,(K)ODODO P*=P000,POO0O00O0OOOO.
2) Pe M,(R)O PPP="PP=E,000000 PO0D0OOOOO.00000000,000.
3) Pe M,(C)O PP*=P*P=E,000000 POOOOOOOOOO.
000000000 U,000.
4) PeMy(K)O P=PO0000O0O,POOOOOOOO.
5) Pe M,(K)O P=P*000000,PO000000000OOO.
6) Pe M,(K)O P=—-PO0000O00O,POO0OOOOOOO.
0000000000000 o,(K)0D00000. 0,(R)0 0, 0000.
7Y PeM,(K)O P=—-P*000000,PO0000O0OOOOOOO.
00000000000 w,000000.
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e (10
(V,(-|))ooooooo,|-|o(|Hy00ooo0ou0oo ooao.
1) (ww)y=0000,v0w00000000000,vlwO0D00O0O.
2)UEVDD,WCVDDDDDDDDDD.VwGVV,<v|w>:0DD|:ID[IDD,vD wooad
oooooooo,«twooooo.

3) Wi,WocVOODODOODODOOOO. Yw, € Wi,Ywe € Wa, (wiwe) =00000000, W, O
W, 0ODOOo0oooooo,w,.w,00000.

000000000000 0Oo0O000O0O0 3)00000 0. 00ooooUbooOoooo.

e JOOO
Wi, Wo cVOOQUOOOOOOO. 0ugo, WilWy, =W NnWe={0}. 00O W1+ W, 00O
ooo.ooo wyeWw, 000000 OD0O0O.

e UDOOODO
wWcvioooooooo. wovooooooouoooo (V=weU)WLUDOOGoooo
o0,woovooooooooooooo,viooo.
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7.1 OUO0dobobObooodoobbbooooobobbooooboon

AeM,(C)0OO.
Vie)={veC|Av=av} #{0}000000 aeCO ADDDDDOODO.
V(e)0 0000 ADDOODOD,V(e)D 000000 «0000000000000.

Fa(\) =det(A\E, —A)0 ADDDDO00O0OO, F,(\)=00 ADODOODOOOO.
acCO ADDOOODDOOO,e00000000000 (Fale)=0)00000000.
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e OO
nO0000 PA)=A-a)Pr---A—a)Pr (;m+--+p,=n)0000,p;, 0 0000000,
Ae M,(C),«0 ADDDODOOOOO, Fyu(\)=0000000 «000OO0O0O0OOO0 «ODOOO
goo.
obooobooooo,0obobobocob0oboooooboooog.

e 00O
AeM,(K)0ODOOO,3PeGL,(K),P'APO0OOOO 00000,
0000 P'APOOODDOOOOD ADODDOOOOOOOOOOO.
K=COOO PelU, K=ROOODOOOOOOOOO Pe0,0000.
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A€ M,(C)0O0O. F,0 ADDODODODOOD, Fa(A)=0,00000.
(Fa(x)=2" +a1z" '+ +a,000 Fp(A) = A" + a; A" L+ -+ a,Ey)

2000000000O000D0O0000.

73 OO0

Ae M, (C)DDDO,00 PEGL(K')DDDDD,P_lAPDDDDDDDDDD,AD K'ooooo
D0000DD (K=K 000000). Ae My(K)O (CO)00000000000000000D,
ADDDD 000000000 V(ey) 00000, i=1,...,7)

dim V(a1) + - +dim V(a,) =n
000o0o0ooooo. AeM,(R) D ROODODD0ODOUOOOOOO,00000000 AQDUDDOOO
Joooobobobboooooooo.

oooo, V(w),...,V(e,,)0OOODDOOOODOOOOO PODOODOOOOO PtAPOODOOO.
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e J0UD (AA*=A*A00 A€ M,(C)) 00000000 OOOOOOOO.
e J00D0D0D0D0OOOOOOOOOOODODD.
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4 4 10

A=11 4 5 | eM;(C)0D00D00O0OO0O0DODOOOOODO.
-1 -2 -3

oood

detAE—A)=(A—1)(A—2)200 ADODDO0 A=1,2.

(i) A=1000
-3 —4 -10 1 0 2
EFE-A=|-1 -3 -5|—-(0 1 1|000000O0O0ODOO,
1 2 4 0 0 O
-2
V(l):{v|(E—A)v:0}:< -1 >
1
(i) A=2000
-2 —4 =10 1 2 5
2E-A=|-1 -2 -5 —1[(0 0 O|lODOODODOODOOO,
1 2 5 0 0 O
V(Q):{v|(2E7A)v:O}7 )( >>

2 -2 _5 100
OoOoP=|-1 1 0 |000O0P'AP=(0 2 o|l00ODODOD.O
1 0 1 00 2
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81 00O

¢:K"—KO0OODOOOODOOOO,00a;€K(1<i,j<n)00000, {z,...,2,) € K*000,

q((x1,. .., 1)) = Z i T;%;

1<i,j<n
O0o00oOo0ooooo.
A0nO0000000000,Ap]0veK"0000 4000000000000 .
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82 DUUOOOO

0000 g() =tAv000000 v=Pw(weR)OOO0O00O00
gv)=wi+- - +w2-w? ——wi, (1<7rs<n)
gogoobbobbdodo. oo gbbbbbbooooobbbobuoog.
0ooo, (ns) 0 ¢000000.
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8.3 OO
000000000000. (Lagrange 0000000000 0,000000000000000000.)
DDDDDDDDDDDDDDD,DDDDDDDDDDDDxu:x;%y:x_ymmmmmmmm.

000000000000000o0o0og.
gooo
0000 Q=%+ 23+ 423 + 22172 + 42173 + Broxs + 220wy + 4232, 0000000000000,

gooog
Q = (21 + 22 + 273)? + Tow3 + 22074 + dT324.
To + X To — X
Y1 =T1,Y2 = 22 2 ys = 22 S ya=24000,
Q = (y1+3y2—y3)"+y5 — Y3 + 6y2ys — 2y3y4

= (y1+3y2—y3)* + (v2 +3ya)® —v3 — 97 — 2y3ya
= (y1+3y2—ys)” + (y2 +3ys)® — (s + 1a)” — (2V20)".

000 21 =y1+3y2 —Y3,22 = Yo + 3Ya, 23 = Y3 + ya, 24 = 212y, 0 O O,
Q=22+:2-22-220000000000,000 (22)000.0
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